PROCEDURE AI-INTERVIEW

* Open the link to the interview
on your laptop or tablet

Welcome to the interview on:

° Please answer the Consumption of food
questions with relation to -
Participate
the rollout and not general i

* If the interview surface should not
open correctly, please try another
browser
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PROCEDURE AI-INTERVIEW

* You will be presented with
three elements

Which element differs most from the other two?

- Below some elements there iz Fork Spoon
iS a brief descri ption that iS Consmt}s]ao:dbtfde and Conas::vzfr:l:;neile and Consnstsb(c))zvsltem and

only for better understanding
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PROCEDURE AI-INTERVIEW

¢ Fr'Om the three elements, Which element differs most from the other two?
choose the element that
differs the most from the Knife Fork Spoon
other two Consists of blade and Consists of a handle and Consists of stem and

handle several tines bowl
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PROCEDURE AI-INTERVIEW

Why does Spoon not match Knife and Fork?

* Now formulate in your own
words what distinguishes
your selected element from
the other two elements

Enter your answer

suitable for liquid food

Well done!

- Please keep your answer
short and limit yourself to a
few words

e Step B
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PROCEDURE AI-INTERVIEW

What is the opposite of suitable for liquid food?

* In the next step, formulate
the opposite of your
previous description in your
own words

Enter your answer

facilitates the consumption of solid foods

Well done!

* |t can also be the difference
from the other two elements
to your selected one

e Step B
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PROCEDURE AI-INTERVIEW

Bewerten Sie die Elemente!

a

facilitates the consumption both
of solid foods

* Both of your formulations
define the X and Y axes of a
graph

between

« All 9 elements of the entire
interview are gradually
displayed to the left of the
field

none of both suitable for liquid food

.
>

interview.steps.element-field.instruction
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PROCEDURE AI-INTERVIEW

Bewerten Sie die Elemente!

A

facilitates the consumption both
of solid foods

 Rate all the elements
through placing them in the
graph with drag & drop

* You are free to position the
elements in the field

none of both suitable for liquid food

»
»

interview.steps.element-field.instruction

e Step B
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PROCEDURE AI-INTERVIEW

Why does Spoon not match Knife and Fork?

Which element differs most from the other two?

Enter your answer
suitable for liquid food
Knife Fork Spoon

onsists of blade and Consists of a handle and Consists of stem and
handle Lt bowl

* You go through steps 3 -6
nine times, each time with a
new combination of elements

‘ Next step -

Bewerten Sie die Elemente!

What is the opposite of suitable for liquid food? 3‘3‘&?‘532 consumption both
Enter your answer 3
facilitates the consumption of solid foods
between
none of both suitable for liquid food

interview.steps.element-field.instruction

‘ R B ‘ R B
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PROCEDURE AI-INTERVIEW

« Complete the interview so

that your answers are Well done!

S u b m itted Thank you for your patience and creativity.
[ ] I M PO RTAN T: Click heeto ﬁish th interview

If you cancel the interview

beforehand or close the tab
in your browser, your data
will not be saved, and you
have start again from the

beginning TN D
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PROCEDURE AI-INTERVIEW

* You completed the
interview successfully and

can now close the tab in your
browser

You have finished the interview successfully.

Good bye!

www.rotecag.com

f v O W
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HAVE FUN WITH THE INTERVIEW!

Don‘t hesitate to contact us if you have questions!

contact@rotecag.com




